FINAL EXAMINATION
December 201 8 P-14(SFM)
h Syllabus 2016
‘ | Strategic Financial Management
Time Allowed: 3 Hours
Full Marks: 100

The figures in the margin on the right side indicate Sfull marks.

Working Notes should Jorm part of your answers.

Wherever necess 1
ary, candidates may make appropriate assumptions and clearly state them.

' No present value fac e _
i alue factor table or other statistical table will be provided in addition to this question paper.

Candidates may use relevant values from tables given at the end of the question B,

r

S paper contai ) g y I
This paper contains two sec tions, A and B. Section A is compulsory and contains question No. 1 for

5 \ ) : .
20 marks. Section B contains question Nos. 2 to 8, each carrying 16 marks.
Answer any five questions from Section B.

SECTION - A

Answer all the questions. Each question carries two marks.

1. Choose the correct option from the four alternatives given : (1 mark is for the correct choice and
| mark is for the justifications/workings. You may present only the Roman numeral, your choice

: : : i o
and the reasons/workings, without copying the question.). 2x10=20
(i) M buys a call option contract for a premium of T 200. The exercise price is X 25 and the

j : -
current market price of the share 1s < 22.
what is the profit made by M on exerc

transaction charges.

(A) <200

2. If the share price after three months reaches X 30,

ising the option? A contract is for 100 shares. Ignore
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k. i (ii) fBﬂnkratE' pubhshedbythekeserve Bank refers to

(v) Initial investment of a project is ¥ 25 lakh. Expected annual cash flows are Z 6-5 lakh for

(A) the nepo rate transacted by RBI.

(B) the rate at whxch housing or other long term loans shall be sanctioned by schedul
banks mﬁen customers. E

(C) the tatc at which RBI is willing to buy or rediscount bills of exchange or ¢
commercial paper. '

(D) the rate which RBI uses as cut-off for auction of Government securities.

(iv) An investor has invested in a mutual fund when the NAV was T 15-50 per unit. After 90
days the NAV was T 14-45 per unit. During the period the investor got a cash dividend of
% 1-35 per unit and capital gain distribution of Re 0-20. The annualized return based ¢
-~ 360 days year count will be

(A) 3-23%
(B) 12:92%
(C) 0-8075%
(D) 16:45%

10 years Cost of capital is 15%. The annuity factor for 15% for 10 years is 5-019,. The
Profitability Index of the pro_]ect will be

(A) 1-305 ‘;
(B) 3-846
(C) 026

(D) 0-7663
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1) Rate ot ‘“ﬂ‘t“:)n = S‘l%, B = 0.85’ Risk pm“ium - 2.295%‘ Market return = 12%.

The real rate of return will be
(A) 42%

(B) 11.70%

©) 6%

D) 595%

) In a constant dividend model, the following estimates the difference between the required
rate of return and the growth rate:

(A) Earnings Retention ratio
(B) Leverage rato
(C) Dividend Pay-out ratio
(D) Dividend vield ratio
iii) Presently. a company's share price is T 120. After 6 months, the price will be either 150

with a probability of 0-8 or ¥ 110 with a probability of 0-2. A call option exists with an

exercise price of ¥ 130. What will be the expected value of call option at maturity date?
(A) X 20

(B) X 16

IC) €12

(D) X 10

ix) A stock is currently selling at I 270. The call option to buy the stock at I 265 costs

¥ 12 What is the Time Value of the option?

A) TS
B) T 17
C) X7

None of (A). (B) or (C)




4)

‘ : D 80
Uested his banker B to purchase 2 bl“o.fg;; Sgiv«
oted to A Ltd., if B wants a margin of T
0/10. 4

g
|
y ] o

' the rate t
- the inter bank rate is ¥
(A) T711569
(B) ¥ 710431
(© T 715572
(D) T 71-4428

VRIS 2

SECTION -B

Answer any five questions.

2. (2) The distribution of Teturn of security ‘S’ and the market portfolio ‘M’ is given below:

[_ Probability Return %
S M ‘
030 30 - 10
0-40 20 20 , % |
0-30 0 30 |

You are required to calculate:
(1) the expected return of security ‘S’ and the market portfolio ‘M,
(i) the covariance between the market portfolio and security, and

(iii) beta for the security. g

(b) Shares of N Limited are being quoted at ¥ 600. Three months’ futures rate is ¥ 636 per share
with a lot size of 500 shares. The company does not expect to distribute any dividend in the
interim period and the risk free return is 9% p-a. continuously compounded.

() Compute the Theoretical Forward Price.

(i) What is the recommended action for a trader in s
Substantiate your conclusion with logical steps and
due to futures.

hares in the spot ang futures market?
compute the gains per contract if any,

(iii) What would be the recommended action and gains, if the three ‘months’ future rate is
< 600 per share? 8




(b) A compa

compan /, the
spot ratc on 1/9/2018 it is equwalent to 10,18, 875 The 3 months forward rate is presently
quoted at $ 0-01340 per rupee. The 1mporter wants to hedge half his exposure by a forward

contract. Explain the hedging transaction by forward contract that he will enter into and

calculate the pay outs and the.‘net gain or loss due to hedging if the spot rates are as follows on

st December 2018 :
(i) $0-01338

(i) $0-01352

Present your calculations using ¥/$ upto two decimal places. Ignore transaction cost.

wishes 0 acquire an asset costing Z 1,00,000. The company has an offer from a

4. (a) A company
incipal amount is repayable in equal 5 year end instalments. A

bank to lend @ 18%. The pr1

g company has also submitted a propo
80 per Z 1,000 of the asset value for 5 years. The asset’s life is estimated

leasin sal to the compdny to acquire the asset on lease at

year end rentals of S 2
at 5 years with residual value of T 10,000 and the cost net of residual value is depreciated

r over its life. Assume that this is the only
ital gain or loss with 20% tax effect when the asset is sold. The

equally each yea asset of its class so that at the end of

the Sth year there will be a cap

tax rate of the company is 50%.

Please Turn /‘
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A Ltd. has an investment proposal, requiring an outlay of T 5 lakh. The investm

eipected to have twoyears economic life with no salvage value.

In year 1. there is a 04 probability that cash inflow after tax will be ¥ 3 lakh and 0-6 p ot

that cash inflow after tax will be 4 lakh. The probability assigned to cash inflow after

year 2 are as follows:

Cash inflow for year 1 (%) 3 Lakh 4 lakh
Cash inflow for year 2 (3) 3 Probability 4 Probability |
1-50 lakh 0-2 2-40 lakh 0-4
1-92 lakh 0-3 300 lakh 05
264 lakh 0-5 360 lakh 0-1

The company uses 10% discount rate for this type of investment.
(1) Construct a decision tree for the proposed investment project.

(i) Calculate the expected Net Present Value (NPV). giving the break up of each path of the

decision tree.
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e
(111) What Net tv .12 What is 115
P alue wi)) ' : : g . ig realized’
Pl‘Obilbility? the Project yield, if the worst outcome is re

iv) What is i '
1y atis the Probability of having a negative NpV?
(V) Will the Project be accepted?
Use pv f; iven i
°¢ PV 1aetors as given ip the table. Present calculations to the nearest rupee.

5. (a) The returns on Stock S angd marke

. KT : . e of the risk
: ] t portfolio M for a period of six periods in excess Ol the
free rate of 6%

are givep as follows:

(W Return on stock S Return on market Proﬁrlﬂli)rlrio A}
el R % - |
L N 12:0 ko |
5 15-0 19.0
L ST _LALS
: g’ 11-0
; &0 — 40
3 ©10-00 T
Li#! . -12:0 k\“‘; 27.0 j

Variance (%)"

J Mean (%)

I
j' Covariance (%)
Lk

(i) Determine the equation for the characteristic line of the stock-S.
(ii) What would be the return on stock S if the market return is 17.599

(ii1) Is your finding 1n (i) above compatible with the data given? Why? Comment on the

correlation coefficient. R

Naa 0
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Price (¥/share) ‘Bet‘a

400 Lo

Y | 800000 300 12

z ~ 1200000 100 1-1

The index futures is traded at T 10,250. Assume that the index factor is 100.
(1) Compute the existing portfolio beta upto two decimals.

(ii) Find out the number of contracts (rounded off to the nearest integer) of stock index futureg
to be bought or sold in order to:

(A) Decrease the portfolio 3 to 0-8

(B) Increase the portfolio B to 1-5. What will be the proportion of market valug‘ of

investments in X to the value of total investments plus 10% margin on futures? 8

6. The following are the data on five mutual funds: |

Mutual Fund Return Standard Deviation Beta T

A 15 7 1-25
B 18 10 0-75
i 14 3 1-40 B
D 12 6 098

E 16 9 1-50




(a)

(i) Compu
rate as €

(i) Compu
(iii) Which o

(1v) Assuming { \ b 0 i ‘
using e, ) Y Q_, I you stlll be able to rank the funds
| 8 e 16

Saptarshi Lt
year life wi
which can be sol
fifth yea e ﬁrst year s operatmg costs are estimated at T 2 ,00,000 (excludmg deprecnauon)

at this ou L 1t level. Fixed costs are esumated at ¥ 3 per unit for the same level of production.

The second year’s cost will be the same as in the first year. Thereafter costs (operating and
fixed) will mcrgase over the first year’s cost by 10%, 20% and 25% respectively in the third,

fourth and fifth years.

Saptarshi Ltd. has just come across another model called Machine-N capable of giving the
same output at the same fixed and operating costs as in the first year of Machine-M. There will
be no changé over the first year’s costs in the next four years also. Capital cost of this machine

is 7 2.50,000 and the estimated life is five years with nil residual value.

has an offer for sale of Machine — M at ¥ 1,10,000. But the cost of dismantling

The company
ount to T 40,000. As the company has not yet commenced operations, it

and removal will am .
wants to sell Machine — M and purchase Machine — N.

Saptarshi Ltd. will be a zero-tax company for seven years in view of several incentives and

allowances available.

The cost of capital is 15%.
pany should opt for the replacement. Present calculations of

(i) Advise whether the com

discounted annual cash flows to the nearest rupee without netting off.

Please Turn Over
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(ii) Cash inﬂ.owbw}_;‘

4

(iii) Which variable is more sensitive?

Project cost % 12,000 Salvage value Nil
| Life of the project 4 years Cost of capital 14%
I Nil salvage value

Cash inﬂoWs after tax:
end of year 1 : ¥ 5,000
end of year 2 : 5,000

end of yeér 3 : 10% increase.over year 1 inflow

end of year 4 : 10% increase over year 1 inflow

(iv) Would you conclude that cost of capital is more sensitive than (1) or (ii) above?

8. Answer any four out of the following five questions:

(a) Compare commodity futures and financial futures with respect to the following aspects:

(1) Valuation
(1) Delivery and settlement
(ii1) Contract features and life

(iv) Supply and consumption pattern

4
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(b) State the type o B Syllabus 2016
(You may pre -followlng‘ independent situations: 4

the situations j 1€ Question Roman Numeral and type of risk without copying

ns alue of INVestment that cannot be eliminated by an investor through
diversification

(iv) The risk of a bank whic

. | h has given a car loan to a person who has now defaulted two
nstalments of EMpg.

(c) Classify the following items yn
Capital Market (CM): (You
appropriate head. Do not yse br

der the appropriate category — whether Money Market (MM) or

may choose to write only the Roman numeral under the
ackets for the Roman numerals.)

1. Inter Bank Participation Certificate
ii. Equity Shares
1. SWAPS
iv. REPOS
v. RBI and government are participants
vi. Commercial paper
vii. Global Depository Receipts (GDRs)
viii. Deep Discount Bonds (DDBs) 4

You may use the following format in your answer books:

MM CM
\
|
g > and ‘reverse repo’. 4
d) Write short notes on ‘repo’ a
) ¢ > s al-29
¢) What is ‘credit default risk’ and ‘counter party risk’’ 4

Please Turn Over



